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Course Title : Programming for Problem Solving Max. Marks : 60
0. No. SECTION - A (10 * 1 = 10 Marks) CO(s) K-
Answer ALL Questions Level
I [he Operator at drepresent Col Kl
latd-0 2a 4
Jaa+4 4a 444
2. CIUb;ll variable is also knownas ~ variable. cor Kl
I External 2.Local
3.Internal 4.Static
3 Lxpression in a _statement is evaluated after the body of the loop is executed. CO2 K2
|.While 2.For
3.Do while 4.Switch
q. To read or write a short integer specification is used. cO2 K1
|.%%d 2.%s
3.0 4.%¢
5. Leta|5] = “INDIA™. What is the value of a|4]= O3 K2
I.N 2]
3.A 4.D
0. The _string manipulation function determines if a character is contained in a string. CO3 Kl
I strstr 2.stremp
3.strepy 4.strncat
7. Identify the data types that shares the same block of memory. co4 K1
I.Struct 2.Union
3.Array 4.pointer
8. User defined data type is also called as CcO4 K2
I Structure 2 Union
3 Function 4 Derived datatype
’ fo move the file position 1o a desired location ~ lunction is used. COs Kl
izl 2.fseek
57.45CMs,
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J.ferror
3. rewind
10. Name the mode that is in fopen() to lead a file.
2.W
I.R
_‘. l.‘
3a
SECTION - B (5 * 4 =20 Marks)
Q. No. R )
Answer ALL Questions
EY Explain about Identifiers and Keywords.
|OR]
(b) Discuss about the basic structure of C programming Language.
12. (a) Define Null Statement and Explain the use of it.
[OR]
(b) Discuss the following
a)Writing a character.
b)Formatted Input.
3. (a) Describe short notes on one dimensional array.
[OR]
(b) Explain String Handling Functions.
4. (a) (a)Discuss command line argument in detail with an Example.
(b)Discuss short note on
(i)fgets()
(intputs()
[OR]
(b) Write C program to illustrate passing of an array (o a function
15. (a) List how defining, opening and closing a file are carried out in C with example
[OR]
(b) Develop a C program to find the factorial of a given number using recursion.
Q. No. SECTION -C (3 * 10 =30 Marks)
Answer any of 3
16.

Explain the declaration of pointers with an examples,

17 Create a € program to illustrate the concept of structure within structure
I8, Explain string handling functions with example,

( ; ; .

9. Mlustrate the swirely statement with syntax ang example
20

L\ amn cedence af ar: |
plain about precedence of arithmetje operators wi(h example
. Y ¢ .

Wby LR R RORr

S .

COs

('()(\)
CO|

COl

CO2

CcO2

CO3

CO4

CO4

COs

Co3
Co4
€03
o2

Ol

K-

‘A‘\\

K)

Ki
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END SEMESTER EXAMINATION - NOVEMBER 2021

Programme : B.Sc., Computer Science Date :21.02.2022

Course Code: 17UCSN11 Time : 10 am. to 1 pm.

Course Title: Fundamentals of Computer Max. Marks :75
SECTION - A [10X 1=10]

Answer ALL the Questions.
Choose the Correct Answer.
1. The brain of any computer system is

[a] ALU [b] Memory
[c] Control Unit [d] CPU

2. Which of the following computer generation use concept of artificial

intelligence?

a] First Generation * [b] Second Generation

[c] Third Generation [d] Fourth Generation
3. Which of the following is not a point-and-draw device?

[a] Keypad | [b] Trackball

[c] Touch screen [d] Mouse Dot operator

4. Which of the following is not input device
[a] Touch Pad [b] Printer .

[c] Mouse [d] Keyboard
—1--
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SECTION - A [10 X 1=10]

Answer ALL the Questions.

Choose the Correct Answer.

. A isadata name that may be used to store a data value.
[a] variable [b] record
[c] field [d] file

2. The keyword ------ can be used to create a data type identifier.
[a] int [b] decimal
[¢] float [d] string

3. The value of EOF is
[a] -1 [b] O
[c] 1 [d] 10

4. A built-in multiply decision statement is known as statement.
[a] if [b] if-else

[d] goto

[c] switch

—]--
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Course Title : Java Programming Max. Marks : 60
Q. No. SECTION - A (10 * 1 = 10 Marks) CcOG) K-
Answer ALL Questions Level
Java language was initially called as . Col K2
I.Sumatra 2.J+4
3.0ak 4.Pine
2. Every statement in java should end witha . Col Kl
1.Dot or Period 2.Comma
3.Semicolon 4.Colon
3. Identify which of the following is a ternary operator? co2 Kl
1.1 2.7=
3.0 4.
4. Which is the Logical Operator in Java that works with a single operand? cO2 K1
I.Logical AND 2.Logical OR
3.Logical XOR ‘ 4.Logical NOT
S. Packages that are inside another package arethe . co3 K2
I .packages 2 nested packages
5.util subpackages 4. subpackages
0. Which of these keywords is used to define interfaces in java? CcO3 K1
l.interface 2.Interface
3.ntf 4.Intf
7. The  method is called to clear the screen and calls the paint() method. CO4 K2
[.update() 2.paint()
3.repaint() 4.reupdate()
8. Which of these keywords is not a part of exception handling? CO4 Kl
I finally 2.thrown
S.catch Aty
9. Select the exception thrown by close() and read() methods. CcOs K2

IIOException 2. FileException

192 188 1 177/F MSAPP/dic) oy mrm . v NOC———
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Q. No.

Il (a)

(b)

I3, (a)

(b)

14.(a)

(b)

13.(a)

(b)

Q. No.

16

20).

cMs ; [
putOutputkxception

4. Fileln
3.FileNotFoundException COs }
o . : . rchange
GUl Stands tor 2 Graphical User Interchange
i Inlaones 4.Graphical User Integer
3.Graphical User Interconnect
COyq
z « 4 =20 Marks) 5)
SECTION-B (5 4 2(.) .
Answer ALL Questions
CO|
Describe how java differs from C and C++.
|OR] ‘
e arouments with an example program. CoJ
Describe the concept of command line arguments
, CO2
Give any Five Mathematical Functions with example.
|OR] ; _
S statements with example. CO2
Discuss the concept of jumps in loops and various jump stalements wi P
. " { 2 1 11 o C 3
Write a java program to process student mark list using multiple inheritanc 03
|OR]
' “svnchronizati d its uses €03
Explain the concept of synchronization and its uses.
Define Exceptions and discuss some common java exceptions. COo4
[OR]
What is finally block? Interpret when and how if is used? CO4
Mlustrate the three ways of drawing polygons. CO3
: [OR]
Explain the file operation in detajl, COs
Answer any of 3
List out the features of java in detaj|. ol
Detine constructors and deseri \ .
: esceribe the concept of tonstructors jp, detaj] Co2
Identify the vario &
\ us forms of lmplememmq Interface and give oy .. . -
class. EIVe example of Java code for each CO3
Classify

the variouys section of wel, page

- " S CO4
Explain Byie Stream (lagg In detail

""‘“*‘#ﬁi—;
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A
&
3
]
]

0. No. SECTION - A (10 “ 1 = 10 Marks) COs)
Answer ALL Questions
| The s the distributed mechanism for mapping domain names and 1P COl
addresses
I DARPA 20
JISDN 1DNS
2 15a protocol that supports the transfer of files. COl
LSMTp 2.TCP
SHTTP 4.1°TP
3. 15 the fundamental object in the browser. cO2
I .Document 2. Window
3 Forms 4.Select
4. fhe  method returns the absolute value of X rounded up to the next cO2
mteger value
1. ADbs (%) 2.Round (x)
3 Floor (x) 4.Ceil (x)
s. VBScriptis developedby CO3
I Netscape 2.0pera
3. Microsoft 4.Sun Microsystem
0. A —— Cookicis the one that exists only while the browser is apen. cO3
I.my cookie 2.temporary
3.chient 4.variant
7 ~—__isusedto handle the un-handled exceptions in the page. COA4
Ierrorpage 2.extends
Iexception d.session
8. o are the valid scopes in JSP. CO4

> a2 A e Qe v P 3] 1 \
I Requestpage session. elobal 2.Request.page.session. application
3 Request.page.content, glabal 4.Request.page. contest. global

117 240 157 45!CMSAPP/msUellm-qp-pnn!/18/224”3001/4
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" P END SEMESTER EXAMINATION - APRIL - 2022
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e

(CHOICE BASED CREDIT SYSTEM - OUTCOME BASED EDUCATION)

Programme : B.Sc. Computer Science

Course Code : 20UCSC11
ourse Title : Programming for Problem Solving

Date : 08.07.2022

Time : 2:00 PM - 5:00 PM

Max. Marks : 60

C
Q. No. SECTION - A (10 * 1 =10 Marks) CO(s) K-
Answer ALL Questions Level

1. C has types of keywords. COl Kl
131 236
334 432

2. Tokens are also named as COl1 K2
1.Smallest individual unit 2 Largest individual unit
3 Medium individual unit 4 Maximum individual unit

3. Switch statement accepts CO2 Ki
1 .Float 2 Double
3.Long 4 Break

4. Continue statement cannot be used with cOo2 K2
1.For 2.While
3.Do while 4.Switch

5. Int a[5]={1,2.3} is the value of a[4]; CO3 Kl
1.1 23
30 42

6. String constant are represented within COo3 K2
1.Double quotes 2.Single quotes
3.Curly braces 4 Square brackets

7. Size of Structure is Co4 K2
1.C structure is always 128 bytes 2.Size of C structure is total bytes

of all elements of structure
3.Size of C structure is larger 4.C structure is always 208 bytes
element

8. The parameters in a function call are defined as CO4 Kl
1. Actual 2 Formal
3.Dummy 4 Real
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- MESTER EXAMINATION - APRIL - 2022
f‘T‘.,ieir’!i“j/" END SEMESTER T
(CHOTCE BASED CRIDIT GYSTEN - O TCONME BASED DU CATION
Programme : ALL UG PROGRAMMES . Date : 25.07.2022
200VEVLI Time : 2:00 PM - 4:00 PM

Course Code @ 2

Valve Fducation Max. Marks : 30

Course Title :

o

0. No. SECTION - A (5%3=15Marks) CO(s) K-
Answer ALL Questions Level
() State the Basic Characteristics of Values LCO1 K1
' LS5 eTTI6H D1q.LILIEHLLI LIGSTTL & 6D 61TS Son )15,
|OR]
(b) Describe Forgiveness. COl Kl
e efliy - ailens &
2. (a) List out the kinds of Karma in Hindu Scriptures. co2 Kl
@G Ceugmisefls 2_616m SO 6UMS & menLl UL 1g w606 6.
|OR|
(b) *religion promotes social harmony and gives positive goals in life"-state the reason. CO2 KNI
“LOGMIGET FCLPS [HELEOIEHI & 8 & 60 HILILD CrhHITLOEMM
@605 G &ML 16 f1& ST 6T -&TJTAID Fn )]s,
3. (a) Define Nehru's part in religious secularism. ' CO3 K2
g &srjisrsnouilsd Cmailsr U@ GMNHE aNeufléHs.
|OR]
(b) Explain the actions to be followed during Secularism. CO3 K2
wg&arylilsireniouilesr Cumg) LeTUMHD CeuevoTiqu
HL6)1q.& 61 & & 606 Q6N & (&S .
4 () Define professional values. €04 K2
Qs (PN LHLIL ST ailens Es.
[OR]
(b) Describe how Television stands primordial in supporting Democracy. CO4 K2
G WImE 3455 H6TM 26L& eTl60 (L& 60T SHLOIIT 6N F)
QeTmLESTL S eTehTLMS aileuflés.
3. (a) Briefly write the role of educational institutions in value formation. COs5 K2
LHUYSS LN 2_[HeunsHs gL &6vail M| 6ehi&efle Lihisns
afleufl&s.
[OR]
(b) Lxplain the role of family in value formation. COs K2
Ww&HUY 2 (HeursH s S Elev &L S S 6T LiMki& 6m 6or sﬁ]ma,@&,
Q. No. SECTION - B (3*5=15Marks) CO(s) K-
Answer ANY THREE Questions Level
0. !

What do you mean by Honesty and describe anyone its theories, COl K2



10.

' 3
. o1 CoHMLUTGS
CHI6MLD 6T6TMITeL 67 65160 “W“mg’g’ omiD) B2
JCHID psimlenen afleufléHs.

C i [slam. . s Lo SHlullemen
Explain the value of *Brotherhood™ in I lam leﬂiélm §l

@6rveomind Fowib eusSmISHIL &
IR Y

Canald

Sketch the Five levels of Political Aware.ncss- 1120 Q.IGIDUUJQJ&,E,
2ITAwe> eNPOy s e 2HSI B
Interpret the accountability and Team Spirt.

. 6 - EUEDIIIMISS.
QU MIL6EBTIT 6y LOMHMILD (&(LY2- 63017 6N suamyLDl

J | (utions
Describe the role of the family in social instil

T LITF : 1 um) eleurl
FLp 8 HIm) e g afsy &6 WHUSHI6T L& eflusmuLl Ul

CO2

CO3

CO4

COS
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A END SEMESTER EXAMINATION - APRIL - 2022
(CHOICE BASED CREDIT SYSTEM - OUTCOME BASED EDUCATION)
programme : B.Sc. Computer Science Date : 08.07.2022
Course Code : 20UCSC21 Time : 10:00 AM - 1:00 pm
Course Title : C++ and Data Structures Max. Marks : 60
————————
‘) No. SE(,‘T'O\ - A (‘0 * ] = lo Marks) CO(S) K ~
Answer ALL Questions Level
I Wrapping data and its related functionality into a single entity 1s known as COl K2
[ Abstraction 2. Encapsulation
3.Polymorphism 4 Modularity
3 Which of the following s called address operator? COl K1
1,* 2.&
3.- 4%
3 Which among the following best defines single level inheritance? cOo2 K2
| A class inheriting a derived class 2.A class inheriting a base class
3.A class inheriting a nested class 4.A class which gets inherited by
2 classes
4. Which 1s the correct interpretation of the member function call from an object, CcO2 KI
object.function(parameter).
| object. function(&this, 2.object(&function,parameter)
parameter)
3 function(&object, & parameter) 4 function(&object,parameter)
A What differentiates a circular linked list from a normal linked list? co3 K2
I.You cannot have the ‘next’ 2.1t s faster to traverse the
pointer point to null in a circular circular linked list
linked list
3.You may or may not have the 4 Head node is known in circular
‘next’ pointer point to null in a linked list
circular linked list
CO3 Kl

6.

In linked list each node contains a minimum of two fields. One field is data field to

store the data second field is?

I.Pointer to character 2 Pointer to integer

3.Pointer to node 4 Node



10.

Q. No.

11. (a)

(b)

12. (a)

(b)
13. (a)

(b)
I5. (a)

(b)

Q. No.

COq

iack i§ _—
1 ent stack
o res (o impleme
Minimum number of queues {0 | 24
s 42
3.1 COq

X

e of L]UC“L !

: cae pettonsi i ot the type © N ucuc
Which of the following 18 n¢ 7 Single ended 4
1.Ordinary queue 4.Priority queuc

3Circular queue a B-tree. Then  COj5

. into
is inserted
s an entry
Five node splitting operations occurred whe

nodes are written.

T 2.7
1.14
4.5
il - called of the tree. CO5
scalled ______——
The number of edges from the root t0 the node 1
2.Depth
1.Height
4.Width
3.Length
SECTION - B (5 *4=20Marks) CO(s)
Answer ALL Questions
COl
Enumerate the structure of the C++ program
[OR]
Tabulate the Difference between Class and structure Col
Generalize the Need for initialization of object using Constructor. C0o2
[OR]
Explain function template Co2

Explain the operations of Deleting a specified node and Insertion after specified node onCO3
single linked list with algorithm

[OR]
Discuss the concept of circular linked list CO3
Explain the operations of stack with an example CO4
[OR]
Explain the process of conversion from infix expression to postfix using stack Co4
What are the advantages and disadvantages of Sequential representation of g binary trec?CO35
| [OR]
Explain tree traversa] techniques with an example
COs

SECTION - ¢
Answ (3 * 10 =30 Marks) CO(®s)
er ANY THREE Questiong

Enumerate the inline functions in detai]

Explain the types of inheritance col
Describe | o 02
escribe in detail aboyt Polynomia| manipulation iy 1 ) C
Describe the function 1, €xamine whey hedlis COo3

. ether the stack ;¢ f
Explain the applictionsof bingry * 1ull0) or empry), co4

CO5

K

K|

K

K|

LE\&
Kl

K

&

G

K3

Lev

Kl

=

K4
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(CHOICE BASED CREDIT SYSTEM - OUTCOME BASED EDUCATION)
Programme : B.Sc. Computer Science

Course Code : 20UCSC31

Date : 07.07.2022
Time : 2:00 PM - 5:00 PM

Course Title : Java Programming Max. Marks : 60
Q. No. SECTION - A (10 * 1=10 Marks) CO(s) K-
Answer ALL Questions Level

1. Identify the constraint to be considered at the time of variable declaration. COol K2
1.1t should not be keyword 2.It must not begin with digit
3.White space not allowed 4 All of above

2. Java interpreter translates into machine code. COl Kl
1 Bitcode 2 Bytecode
3Machine Code 4 User code

3. Which of the following is a loop construct that will always be executed once? co2 K2
1.switch ) 2 for
3.whiic 4.do..while

4. Tell what is the data type of output of any comparison operation in Java? C0O2 KI
l.int 2. char
3.boolean 4 byte

5. What is the name of the method used to start a thread execution? cCo3 K2
1.run(); 2.init();
3 start(); 4 resume();

6. Which keyword is used to declare an interface in java? CO3 Kl
1.class 2.interface
3.implements 4 abstract

7. The class at the top of the AWT hierarchy is . Co4 K2
1.Component 2.Window
3.Container 4 Frame

8. Which of these keywords must be used to monitor for exceptions? CO4 KI
1.finally 2 throw
3.Catch

4try
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END SEMESTER EXAMINATION - APRIL - 2022 .

e

(CHOICE BASED CREDIT SYSTEM - OUTCOME BASED EDUCATION)

gramme : B.S¢. Computer Science Date : 11.07.2022

;::H‘S(‘ Code: 20UCSC32 Time : 2:00 PM - 5:00 PM
Course Title : Markup and Scripting Languages Max. Marks : 60
P
Q. No. SECTION - A (10 * 1 =10 Marks) CO(s) K-
Answer ALL Questions Level
L I is a connectionless transport layer protocol. col K2
1.TCP 2.UDP
3TFTP 4 FTP
1 The program that displays the web pages in the client system is called CO1 Kl
.
| Internet 2 Intranet
3.Web browser 4 Protocol
3. The method searches a string to see if it contains a specified co2 K2
character, and if it does return the position of that character.
1 charAt () 2.indexOf ()
3.substr () 4 tostring ()
4. property is used to find the number of elements in an Array object. CO2 Kl
1.Width 2.Length
3.Index 4 Action
5. The expiry date of a cookie is set by using attribute. CcCOo3 K2
1.End 2.Expire
3 Expirydate 4.expires
6. Which of the following is an unary operator? co3 Kl
1.Addition 2.Subtraction
3.Multiplication 4 Negation
7. method returns the comment describing the purpose of the cookie. CO4 K2
1.getName() 2.getComment()
3.getValue() 4.getPath()
8. object is instantiated implicitly from JSP Writer class andcanbe CO4 Kl

used for displaying anything within delimiters.

1 Request 2.Response

30ut, 4 Page



h
he index after the colon, W

8. If we do not give any value for t
will the slice go up 1o JFire
1.Third L
. i ith different behaviours is known as
9. A function defined more than one time W

i jects
10. Which of the following is a blueprint that defines objec
2.A method
1.An object
3.Acl 4.A program
3.A class
Q. Ne SECTION - B (5 * 4 = 20 Marks)
' Answer ALL Questions
I1.(a)  Define the term an algorithm with suitable example.

4 Function Overriding
3.Function Overloading .

of the same type?

[OR]

‘(b) Define the terms system software and application software.

12. (a) Define the Identifiers in Python Language.

(b)
13. (a)

(b)
14. (a)

(b)
15. (a)

(b)

Q. No.

16.
17.
18.

19.

20.

[OR]
Define the unary expression and binary expression.

Associate the anonymous functions in Python.

[OR]
Examine the return statement with example.

Compare the string concatenation and slicing.

[OR]
Ilustrate about the exception handling in python language.

Associate with the types of inheritance in Python.

[OR]
Identify method overriding in Python.

SECTION - C
Answer ANY THREE Questions
Describe in details about the Flow Charts Symbols,
Classify the data types in Python Language.

Summarize the function definition ang function call

Complete the basic file operationg with €xample

AL LTI

ich element of the string

(3 * 10 =30 Marks)

CO4 K,
COs Ky
COS K]
CO(s) K.
LeV(
COl K1
COl K1
CO2 K1
CO2 Kl
CO3 K2
CO3 K3
CO4 K2
Co4 K2
CO5 k2
CO5 K2
CO(s) K-
Leve
CO1 Kl
cCOo2 K2
co3 K
co4 K3
cos K
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B.Sc. Computer Science ‘ g

ogramme : .
z:“rs(, Code : 20UCSC42 ;)‘:“c : 11.07.2022
se Title : Digital Principles me : 10:00 AM - 1:00 PM
Cout Max. Marks : 60
/—-
Q. No- SECTION - A (10 * 1 = 10 Marks) COGs) K-
Answer ALL Questions
o Level
1. The gate which is used to reverse the output obtained is ) Gl
1LHOR 2NAND
3EXOR ANOT
" imal equivalent of (0. i
2. The decimal eq entof (0.101) is N
0.5 20,625
3025 40.875
3. The Boolean expressions are represented in a unique way called . cO2 K2
I.Logic diagram 2.Canonical form
3 Minterm 4 Maxterm
4. The logic expression can be implemented by giving the inputs A and B to a two-input CO2 Kl
1.NOR gate 2.X-OR gate
3.X-NOR gate 4 NAND gate
5. If enable input is high then the multiplexer is CO3 K2
1 Disable 2. Enable
3.Saturation 4 High Impedance
. A logic circuit that provides a HIGH output for both inputs HIGH or both inputs LOW CO3 Kl
is
1.OR gate 2. EX-NOR gate
3. 4 NOT gate
7 314 : - . Co4 K2
/. In a positive edge triggered JK flip flop, a low Jandlow Kproduces_
I No Change State 2 Toggle state
3.Low state 4 High state
: . co4 Kl
B MSB bit in binary number is abbreviated as
1. Must significant bit 2 Most significant bit
4 More significant bit

3 Merge significant bit



G.T.N. ARTS COLLEGE (AUTONOMOUS)

DINDIGUL - 624 005
(Affiliated to Madurai Kamaraj University)
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END SEMESTER EXAMINATIONS - APRIL 2022

Programme: B.Sc., Computer Science Date: 06.07.2022
Course Code: 17UCSC51 Time: 2 pm -5 pm
Course Title: Relational Database Max. Marks :75

Management Systems

SECTION - A [10 X 1 =10]
Answer ALL the Questions.

Choose the Correct Answer.

1. Information consist of

[a] data [b] images

[c] text [d] all the above
2. is backbone of any organization.

[a] Information [b] Program

[c] Business [d] Job
3. The E-R model developed by

[a] Google | [b] Oracle

[c] Chen [d] Charles

4. Who developed the BCNF? |
[a] Byod and cromwell [b] Date and Codd
[c] Date and White [d] Boyce and Codd

.
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END SEMESTER EXAMINATIONS - APRIL 2022

Programme : B.Sc. Computer Science D |
" \ ate: 13.07.2022
Course Code: 17UCSESI Time: 2 pm 5 pm
Course Title : Advanced Visual Programming Max. Marks :75
SECTION - A (10 X 1 = 10]

Answer ALL the Questions.
Choose the Correct Answer.
1. Visual Basic responds to events using which of the following?

[a] a code procedure [b] an cvent procedure

[d] a property

[c] a form procedure
hey receive the focus when the tab

2. What property of controls tells the order t

key is pressed during run time?

[a] Focus order [b] Focus number

[c] Tab index [d] Control order

event occurs when akey is pressed while the
[b] Keypress

[d] Keyknter

form has the focus.

[a] Keydown
[c] Keyup

4. We can limit the amount of text entered into TextBox control by setting

er of characters

property to a specific numb
[b] TotalLength

[a] MaxLength

[c] TextAmount [d] TextLimit
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G.T.N. ARTS COLLEGE (AUTONOMOUS)

Ny DINDIGUL — 624 005
> w2 (Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATIONS - APRIL 2022

Programme: B.Sc Computer Science Date: 13.07.2022
Course Code: 17UCSE61 Time: 10 am — 1 pm
Course Title : Android Programming Max. Marks :75
-
SECTION - A [10 X 1 =10]

Answer ALL the Questions.
Choose the Correct Answer.

1. Android is

[a] An operating system

[b] A web browser

[c] A web server [d] all of the above

2 For which of the following Android is mainly developed?
[b] Desktops
[d] Mobile Devices

[a] Servers

[c] Laptops

3. The layout classes are the subclasses of

[a] android.widget [b] android.view.View

[c] android.view.ViewGroup [d] all of the above

4. In android, mini activities are also known as
[a] Adapter [b] Fragments
[c] Activity [d] Emulators

e e e —
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G.T.N. &ARTS COLLEGE (AUTONOMOUS)

DINDIGUL — 624 005
(Affiliated to Madurai Kamaraj University)
(Accredited by NAAC with ‘B’ Grade)

END SEMESTER EXAMINATIONS — APRIL 2022
Date: 13.07.2022
Time: 2 pm — S pm
Max. Marks :75

Programme: B.Sc., Computer Science
Course Code: 17UCSES2
Course Title : Data mining

SECTION - A [10 X 1 =10]

Answer ALL the Questions.
Choose the Correct Answer.

1. Which one of the following 1s not an application of Data mining?

[a] Prediction [b] Visualization

[c] Detection [d] Designing

2. Confidence of x = yis

BES 0] %5
[c] B2 41755

3. The top level in the architecture of data warehouse consist of
[a] Datamarts | [b] Legacy systems
[c] OLTP [d] Central database

4. Which one of the following is false?
[a] OLTP systems are mostly RDBMS

[b] OLTP system can handle management queries effectively
[c] OLTP systems are indexed and designed

[d] OLTP systems store valuable information
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G.T.N. &ARTS COLLEGE (AU TONOMC L BESN

DINDIGUL. - 624 005
(Afiliated to Madurai Kamaraj ’/niw'rs‘ily)
(Accredited by NAAC with ‘B’ ( rade)

END SEMESTER EXAMINATIONS - APRIL 2022

Programme: B.Sc. Computer Science Date: 06.07.2022
Course Code: 17UCSC61

Time: 10 am - 1 pm
Course Title : Data Communication Networks Max. Marks :75

SECTION - A [10 X 1 = 10]
Answer ALL the Questions.
Choose the Correct Answer.

1. In transmission, the channel capacity is shared by both

communicating devices at all times.

[a] Simplex [b] Half-duplex
[c] Full-duplex [d] Half-simplex
2. Which topology réquires a central controller or hub?
[a] Mesh [b] Star
[c] Bus [d] Ring
3. consists of a central conductor and a shield.
[a] Coaxial [b] Fiber-optic
[c] Twisted pair [d] None of the above

4. In cyclic redundancy checking, what is the CRC?
[a] The divisor [b] The Quotient

[¢] The dividend [d] The remainder



llm.\!l

UeRIBRIP 183U Y)Im BUIYIIIMS 1INJIID Inoqe [1e1ap ul urejdxs ‘0z
apdwexa s 1A noqe arensnyf ;JA STIRYM 61
'Sj0d0304d pajuaLIo 19)0BIRYD JnOqe Ule[dXy ‘§]

-adwexa yjim eipaw papingd uo ajou aje1oqe[q L]

‘weFeIp 18U IIM [OPOW DUDIJDI [SO INOQE SSNISIT ‘9]

‘suonsan®) JAHH.L AUV Jomsuy
D~ NOILLOAS

ojdwiexa ynm s1ake] NGS] inoqe urejdxyq (q

4ol
‘Juiyoyims 1ax0ed uo ajou Jouq e AL (B G

“weiderp jeau Yyym Suir uaxyoj uo auinQO (q

[dol
"oldwexa Y)m 12uIdy)s] uo dou e ppy (8 b

ddwexs yum D IAH moqe 2quasd(] (q
o\

“AUNAIDSIP JUL] VWO WUNoDde 1211Q € DAID (B "¢ |

"SI0 [[e Jo Appuapuadopul patean st1axoed yoed ‘Fuiyoims

d]durexa yim sYI0mIau Jo satosaes ay) qwpIdnyiy (g

ol

'sad4) s11 pue sa15ojodor YIoaau uo JUNOIIL JaLIq © aa IDYCET

'suonsang) AyY) IV JdMsuy

[s€ =L X €] g - NOILLDAS

aaoqe ayi Jo auopN [p] awel [9]

1noa) [q) wwadee(g [v)

“upol

[ears&yd [p] yuip eieq |0

yiom1aN [q) vodsuery el

“194¢e] oy 1e doue(d soye) Buiyoyms undat ) ‘g

aAaoqe ay) jo auoN [p] IRIERITE A ]

sng uayo] [q]
"1090101d Y10AM 12U BAIE [BOO] PISN A[DPIM 15O D) S1

¢l pue v qog 5]

VD) / VIASH [e]

dury uayoy {el

¢l 10 v 1oyt [p]
an/vinso lql

"PAIUDAUL SBA T USYIOMIAU SSI[AIIM UO SUOISI[[0D PIOAR O] "/

aAaoqe ay) jo suoN [p] 108 Buipls [4]

mopuip 3uipls [q]) owea.y 3uipys [v]

T e osn jooojoad 1eaday] oA1100]0§ pur N-YOBE[-OF) YI0§] "9

trorrssrierserrrry Jo0/

SAOoqe Oyl Jo suonN [p])



